
©a F2v0r1K14 qKxu6t6a4 sSAo2f9tBwIaLrsea tL3LWCc.y s 1A9l1lu 1rci5gmhttHsz Urfewsee1rPvWevdh.M V kMtaId3eb kwbiotRhw sI YngfjiHnmiHt3eq bAhlDg7eobJreaP B14.D Worksheet by Kuta Software LLC

Algebra 1 - Clark
ID: 1

Name___________________________________

  Period____Date________________
©2 02e0C1E1t WKPuTtSak XS6oqf lttwpaorlek DLnLCCJ.7 W lAFl vl l HrUi 3g7hetusw or2eosne4rmv2e8dD.w
Graphing Horizontal and Vertical Lines

Sketch the graph of each line.
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Graphing Horizontal and Vertical Lines

Sketch the graph of each line.
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